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Class: Xll Session: 2022-23
Computer Science (083)
PRE-BOARD-1 (Theory)
MARKINGSCHEME
1.  [T1=(10,) 1
2. |c)_Percentage T
3. a) (2+(3==4)+5)==7 Yots
b) 0 ::(1 == )
4. a) 2**3**2=512 Vot+Va
b) (2**3)**2=64

5. 888 1
6. |a)fl.read(n) T
7. |a)drop T
8. o) yyyy-mm-dd’ 1
9. |a)Statement3 T
10. |a)PrimaryKey T
11. |d)movesthecurrentfilepositiontoagiven specified position. 1
12. [The break statement enables a program to skip over a part of the code.|1

The break statement canterminate the loop immediately and the contro

passes over to the statement following the statement containing the

break. In nested loops, a break statement terminates the very loop it lieg

within.
13. |* SIMPLEMAILTRANSFERPROTOCOL” 1
14. |8,11,20,8,11,20,8,11,20] 1
15. |DESC<TABLENAME> 1




b) dict_items([('sname’,'Aman’), (‘age’,27), ('address','Delhi')])

16. |MySQL,Oracle 1
17. |a 1
18. |a 1
19. |n=30 Yo+ Vot Vot Vs
foriinrange(0,n):
ifi%4==0:
print(i*4)
else:
print(i+4)
20. [Hub Switch 1 mark foreach
validdifference
Portsof hubdonothaveindividual  [Switchisaware oftheaddresses
addresses assignedtothem. assignedtoeachofitsports.
Hub sends all datait receivestoallthe Switchsendstheincomingdatait
connectedports. receivesonlytothecorrect port.
Performance of Hub isrelativelylower [Performance of Switchis relatively
than Switch. greaterthanHub.
Or
Star Topology Bus Topology
Startopologyisatopologyin  |Bustopologyisatopology whereeach device
which all devicesare connected |is connectedtoasingle cable whichisknown
toacentral hub. asthe backbone.
Instartopology,ifthecentral  InaBustopology, the failure of the network
hub fails thenthe whole network |cable will causethe whole network tofail.
fails.
21. |a)'##3202noitanimaxE TEEN## 1+1




22. |RowinaTableisatupleandcolumnisanattribute. 1 mark foreach
correct definition
and Tmarkforan
exampleof each.
23. |Top-leveldomain (TLD)referstothelastsegment of adomainname,or |1 markforstating
the partthatfollowsimmediately afterthe "dot" symbol. correct
. albusi applicationarea

.com ommercialbusinesses. ofeachTDL.
.org— Organizations(generally charitable).

24. |Maximum valuesforFROM=3,T0=4 Yo+ 1o+
OUTPUT:ii) 30#40#50# Or
Or 1+
250300

25. CHAR VARCHAR 1+1
CHARdatatypeisusedtostore VARCHAR datatypeisusedto store Or
character strings of fixed characterstrings of variable length 1

Vot+Vo+Vo+ 1,
length
InCHAR Ifthelength ofthe InVARCHAR Ifthelengthofthestringis
stringislessthansetor lessthanthe set orfixed-lengththenit
fixed-lengththenitispadded |will storeasitiswithoutpaddedwith
with extramemory space. extramemory spaces.
OR
a) Degree=5,cardinality=3
b) rollmustbeprimarykeybecauseall values areunique andnot null
26. |CreatedatabaseMYEARTH,; Vot Vo +2

UseMYEARTH,;
CreateTable CITY (CITYCODE CHAR(5) PRIMARY KEY,

CITYNAME CHAR(30),




SIZEINT(3),
AVGTEMPINT,
POLLUTIONRATEINT,

POPULATIONINT);

1[i]=11[i]*2

27. |defRECORD(): 1mark for
o (Myfiletet ) function
=open ile.txt''r —
P y definition+1
str1=f1.read() mark forfunction
body
print(len(str1))
+1 mark for
RECORD() functioncalling
OR
def CLRECORD():
f1=open('Myfile.txt''r')
11=f1.readlines()
print(len(I1))
CLRECORD()
28. |a)SHOWTABLES; T+1+1
b) ALTER TABLE <TNAME>ADD COLUMN <CNAME> DATATYPE;
c) ALTER TABLE <TNAME>DROP COLUMN <CNAME>
29. |defconvert(I1): Yamark for
forii (0Jen(1)) function
oriinrange(0,len(I1)): —
’ definition+1
if[1[i]%2==0: mark forcorrect
<1072 forloop+1 mark
l=ntil/s forcorrectlogic
else:

+amark for
functioncalling




print(I1)
11=[3,4,5,16,9]

convert(l1)

30. |defPUSH_IN(L): Yamark for
function
L1=[] —
definition+1
foriinL: mark forcorrect
forloop+1 mark
ifi%3==0: .
forcorrectlogic
L1.append(i) +>mark for
Iflen(L1)==0: functioncalling
print(“ EmptyStack” ) Or
else: Yamark for
| function
print(L1) definition+1
1=[4,6,9,12,5] mark for
checking
PUSH_IN(L) underflow
Or condition+1
mark for
def POP(Arr): returning delete
if(len(Arr)=0): value fromstack
print(“ Underflow,Noelementinstack” ) +¥amark for
functioncalling
return
else:
return Arr.pop()
A=[] #Implemented stack
POP(A)
31. |(i)star (ii)Broadband (iii)Switch/Hub (iv)RadioWave (v)BlockB1 [1+1+1+1+1




32. |a)5#8#5#4+# a) 2marks for
. correct output.
b) Selection:
. , . b)1 mark for
This operation choosesthe subset of tuples fromtherelationthat L
o , N . _ _ correct definition
satisfiesthegiven condition mentionedinthe syntax of selection. ,
of selection+1
Projection: mark forcorrect
definition of
This operation selects certainrequired attributes, whilediscardingother| . .
projection+1
attributes.
mark for
appropriate
examples.
a) 2marks for
OR
correctoutput.
a) 300@200
300@100 b)1 mark for
120@ 100 correct definition
of selection+1
300@120 mark forcorrect
b) Anattributeisadescriptive property whichis ownedbyeach definition of
entity of anentity set whilea domainisthe setof valuesallowed |Projection+1
foran attribute. Thus, this is the main difference between mark for
Attributeand Domain. appropriate
examples.
Attributes help to describe an entity whiledomains help to define
therangeof valuesthat suita specific attribute. Hence, thisis
another difference between Attributeand Domain. Example
Nameand age aretwo examples of attributes. Moreover, the
name hastobealphabetic,andagehastobe positive integerto
explainthedomain.
33. |* CommaSeparatedValues” ,Texteditorand spreadsheetprogram. |[1+1

Program:




importcsv

def ADDR(): 1% for correct

definition of

ADDR+1%for
wr=csv.writer(fout) correct definition
of COUNTR

fout=open("record.csv"’,"a",newline="\n")

rollno=int(input("Enterrolino::"))
name=input("Entername::")
mobile=int(input("Entermobile number::"))
Ist=[rollno,name,mobile]
wr.writerow(lst)

fout.close()

def COUNTR():
fin=open("record.csv","r",newline="\n")
data=csv.reader(fin)

d=list(data)

print(len(d))

fin.close()

ADDR()

COUNTR()

Or

Difference betweentext fileand csvfile: (Any onedifferencemaybe
given) Textfile:

Extensionis .txt
humanreadableintext editor

Storesdataintheformof characters




CSVfile
Extensionis.csv
Humanreadableintext editorand spreadsheetboth
Stores datalike atextfile.

Program:

importcsv

defadd():

fout=open("abc.csv","a",newline="\n")
wr=csv.writer(fout)
fid=int(input("EnterFurnitureld :: "))
fname=input("EnterFurniturename::")
fprice=int(input("Enter price::"))
FD=[fid,fname,fprice]
wr.writerow(FD)
fout.close()
def search():
fin=open("abc.csv","r",newline="\n)
data=csv.reader(fin)
found=False
print("The Details are")
foriindata:
ifint(i[2])>5000:
found=True

print(i[0],i[1],i[2])

2marksfor
correct definition
of add() +2marks
for correct
definition of
search()




if found==False:

print("Record not found")

34.

a) Altertable Teacheraddprimarykey T_ID;
b) Altertable Teacheradd columnP_ID int(1);

c) Altertable Teacheradd constraint(c1_01) foreignkey (P_ID)
references Teacher(P_ID);

or

Altertable Posting modify column Place varchar(10);

T1+14+2

35.

Statement1:import pickle
Statement2:fout=open(’ temp.dat’ ," wb’ )
Statement 3: pickle.load(fin)

Statement 4: pickle.dump(rec,fout)

1+1+1+1

ALL ANSWERSIN MARKING SCHEME ARE SUGGESTIVEANY OTHERCORRECT ANSWER

MUST BE AWARDED APPROPRIATE MARKS.




